Name:  ____________________________

Class: ______

(B)
Two TV stations offer deals for putting ads on.  The cost for a 30 second ad is as follows:
Global:  $20 initial charge, plus $1 per day

CBC:  $12 initial charge, plus $2 per day

1)  Write the rate of change (coefficient) for Global and CBC?   Y-Intercept?

Global (Coefficient):
_________

Y-Intercept: _________

CBC (Coefficient):  _________


Y-Intercept:  _________
2)  What do the above (coefficient/y-intercept) mean in relation to these TV stations?

  Co-Efficient:  ______________________     Y-Intercept:  _____________________
3)  Write a linear equation in y = mx + b for Global and CBC.

Global:

CBC:
4)  When would both companies cost the same?   (Use back if needed.)
5)  When would it be cheaper to use the Global?  

6)  When would it be cheaper to use the CBC?
